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Double Stub Matching

This application will calculate the lengths L, and L, of two shunt stubs that match the load to the impedance of

a transmission line.

The shunts are at a known position d; and d, from the load.

Parameters
Load and impedance Z = (23 — 38 i) ohm Z, := 100 ohm
27
Wavelength and phase Ai=1m B:=—=6.283—
constant A m
Position of stubs d, ==0.26-1 d, :=0.18-A
Li-sin(f-d,)
cos(p-d,) +
(B 2) Zo-cos(B-dl) +1i-ZL-sin<B-d1>
—1i-cot(B-L1)
Z -cos(B-d,) +1i-Z -sin(B-d
N , L 1 0 1
Circuit equation circuit :=
cos(B-dz)
+1i-sin(B-d
Zy-cos(B-d,) +1i--sin(B-d,) (B)
— —1i-cot(B-L1)
ZL-cos(B-dl) +1 |-Zo-sm([5-d1)

—1i-cot<B-L2)



Analysis

Numerical solution res ==fso/ve( {Re(circuit) =1, Im(circuit) =0},
{L1 =0.1m,L,=0.1 m}) assuming real

res= (L,=0.298m,1,=0.086m)}



